## 1709.209412\_Intl memo no. 918-001\_.. Anx B - Work Completion Report\_28-02-2024\_ver3.xlsx

,									
Company	MRMLLP		Name of contractor	Janardhan Prasad	Prasad	SI. No. site bills reg.	lls reg.		נופרנ
Project/site	GMR		Nature of work	Tile fi			2010		2121
Diad no	וו מואלו למו		Turcas Of MOIN	THE HOOTING WORK	g work	Dt. site bills reg.	eg.		2024-10-23
DIOCK IIO.	H Block ( 606)	9)	Work done from date	16-6-2024		M-codex bill ID.	D.		
WO no.			Work done to date	2024-10-23		Win issued ?			
WO date			Contractor bill no.			GST hill required?	rado		
Sl. No.	Unit/floor no		Details of work		Otv	I hite	Rate ID	Data	
-	H Block	SRIJA 1360cft (65%)				Cimio	Natio ID	Nate	Amount
,	NACOLO III	DECOM 1200311 (02 /0)			884	Sft	TF185	16.00	14,144
2	H 606	Skirting 18 %			245	Sft	TF186	16.00	3,920
		SBUA 1360sft (65%)			884	Sft	TF187	4.00	3,536
		Skirting 18 %			245	Sft	TF187	4.00	980
w		(200sft per toilet)			400	Sft	TF180	18.00	7,200
4		(93sft per flat)			93	Sft	TF183	15.00	1,395
5		Kitchen dado			34	Sft	TF183	15.00	510
									31,685
								Total	
							Add GST @		0.00
					Tota	amount inclu	Total amount including taxes for work done	work done	31,685
Remarks:									
approved by	Approved by project manager	jer	Approved by QS team.			Approved by I	Approved by Director/E&D team	am	
Sign:			Sign:			Sign:			
Date:			Date:			Date:			

of respective E&D member to be taken. 7. Director include - Soham, Anand Mehta (for GHT + GMR), Sachin (for Vivopolis), B. anand Kumar (for NGH + NRK), 8. Entry of rate ID is mandatory. 9. This sheet must be courier) sent within 2 working days of work completion (with or without contractors bill). 10. Contractors to send scanned copy of bill to site and QS by email. 11. Contractors must submit original bills at HO (can be sent by

Company Name: Project:	MRMLLIP Gulmohar Residency				Approved by: Srinivas N Sign:	Srinivas N
Work Description:	4' X 2' flooring tiles and b	4' X 2' flooring tiles and bathroom tiles laying in G Block	K			
Contractor Name:	Janardhan Prasad					
Prepared By	Srinivas.N					
Date:	23.10.24					
S No.	Item Head	Item Description	Quantity U	Units Rate	e Amount	
1	H 606	SBUA 1360sft (65%)	884 Sft	t 16.00	0 14,144	
2	4' x 2' tiles	Skirting 18 %	245 rft	16.00	0 3,920	
		SBUA 1360sft (65%)	884 Sft	t 4.00	3,536	
		Skirting 18 %	245 rft	4.00	980	
3	Bathroorns	(200sft per toilet)	400 Sft	18.00	7,200	
4	Ceramic	(93sft per flat )	93 Sft	i 15.00	00 1,395	
5	Ceramic	Kitchen Dado	34 Sft	ft 15.00	510	
					31,685	

MEASUREMENT SHEET	HEET							
Company Name:	MRMLLP					Approved by:	Srinivas N	
Project:	Gulmohar Residency					Sign:		
Work Description:	4' X 2' flooring tiles and bat	4' X 2' flooring tiles and bathroom tiles laying in G Block						
Contractor Name:	Janardhan Prasad							
Prepared By	Srinivas.N							
Date:	23.10.24							
			Α	В	С	D	E = AxBxCxD	F
S No.	Item Head	Item Description	Length	Width	Height	Nos	Quantity	Units
1	H 606	4' x 2' tiles						sft
		SBUA 1360sft (65%)	884	1.00	1.00	1.00	884	sft
		Skirting 18 %	245.00	1.00		1.00	245	Rft
	bathrooms	(200sft per toilet)	200.00	1.00	1.00	2.00	400	sft
	Kitchen & utility	(93sft per flat)	93.00	1.00	1.00	1.00	93	sft
	Kitchen dado	Kitchen dado	16.00	1.00	2.00	1.00	32.00	sft

## Bill for Labour Charges

Janardhan Prasad, Mallapur.

Date: 23.10.24

In favor of:

**MRMLLP** 

Project / Site:

Gulmohar Residency

Location: Type of Work:

Mallapur Tiles work

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in H - 606 flats.	Rs. 6337 /-
	Total Amount = 31685/-	RS. 05577
	Work done from date 22.09.24 to date 06.10.24	

Amount in words: Six Thousand Three Hundred and Thirty seven Rupees Only.

~.	
Sign:	
2.8	

## **Allowance for Consumables**

Janardhan Prasad, Mallapur.

Date: 23.10.24

In favor of:

**MRMLLP** 

Project / Site:

Gulmohar Residency

Location: Type of Work: Mallapur Tiles work

Towards:

Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in H - 606 flats.	Rs. 12674 /-
	Total Amount = 31685/- Work done from date 22.09.24 to date 06.10.24	

Amount in words: Twelve Thousand Six Hundred and Thirty Four Rupees Only.

Sign:	
_	

## **Allowance for Consumables**

Janardhan Prasad, Mallapur.

Date: 23.10.24

In favor of: MRMLLP

Project / Site: Gulmohar Residency

Location: Mallapur Type of Work: Tiles work

Towards: Allowance for Consumables.

S No.	Description	Amount
1.	Brief description of work done: Tiles laying work in H -	Rs. 12674 /-
	606 flats . Total Amount = 31685/-	KS. 120747-
	Work done from date 22.09.24 to date 06.10.24	

Amount in words: Twelve Thousand Six Hundred and Thirty Four Rupees Only.

Sign:			